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The assessment of Hindi focusses on different linguistic competencies:

+ Reading Comprehension 40%
+ Grammar and Vocabulary 30%
+ Writing 30%

The assessment objectives are in line with the goals and objectives of the National

Curriculum Framework (NCF) for Primary Education.

It has been noted that a great majority of students have acquired the essential skills in
reading and writing. However, some candidates found it difficult to attain the
minimum grade to pass. A significant number of candidates performed well on the

basic and intermediate tasks across the competencies assessed.

In reading comprehension, candidates were able to retrieve explicit information from
text. However, in higher order reading skills where there were questions requiring

reading between the lines and inference-based items, candidates had some difficulties.

In writing, most candidates were able to write simple syntactically correct sentences
but a few candidates struggled with the correct structure of sentences using

appropriate grammar and varied vocabulary.



Question 1A

This question assesses candidates” knowledge of common vocabulary. Pupils had to
identify the pictures and write the correct word. A large majority of them were able
to give good answers. However, due to spelling mistakes they were not able to score

marks.

Various good answers were given such as qrsfendd, atﬁ, BT, TS, RS, qﬁfﬂ, TETeY 31fq |

It has been observed that many pupils wrote the English or Kreol Morisien word
instead of Hindi resulting into the loss of marks. For the picture of hat, various

answers such as 8¢, B¢, 3T were also accepted.

It is important to note that henceforth only specific words rather than the category
would be accepted. General words and common nouns such as animals, parts of
body, vehicles etc would not be accepted as answers.

Question 1B

This question assesses reading comprehension ability at a basic level. The candidates

were required to match a sentence to the corresponding picture.

As compared to 1A, candidates were able to successfully match the sentences with
the pictures. The picture surely helped them as by recognising only one word in the
sentence, they were able to identify the picture. Most of the candidates were able to

score good marks.

Question 2A

Question 2A assesses a range of grammatical structures through multiple choice

items. The grammatical items tested the use of tenses, verbs, prepositions,



conjunctions, pronouns, adjectives, gender, plural etc. Overall pupils were able to

score marks.

Ttem 1 - THT féwat shT I&ieh Tael € |

Many pupils answered ¥ instead of #I and lost marks.

Question 2B

The purpose of this question is to assess candidate’s ability to work through
vocabulary in context. In general students were able to give good answers.

The best-done items were:
Ttem 2: ¥ SIgd WTET § | HORAT T3 ATST I+ 1T |

Item 3: TS g 38 € | T2 Th Y TWH I & |

Question 3

In the reading comprehension question assessed at a basic/intermediate level, pupils
had to show their ability to read with understanding and locate explicit information.
The context was presented as a poster with precise information based on facts and
figures. Pupils had to locate and write their answers briefly. Overall their effort was
commendable in understanding the context and giving the correct answers. However,
many pupils lifted answers word by word from the given passage. In several items
pupils had recourse to total lifting of sentences which resulted in loss of marks.
Candidates are reminded that indiscriminate lifting does not reassure the Examiners
of their understanding of the text and hence, it should be avoided.

Item1- e ATaeTer o et qaw fomam?
¢.g VLT TR ITSITEAT % Tt T SIS T T 2 |



Item 2 -

Item 3 -

Item 4 -

Item 5 -

Item 6 -

Item 7 -

Item 8 -

Item 9 -

HLhIT UI3TMTeAT was not accepted
forer 31ae o foTw T8 vkt aume fopam T 82

STt fda¥® was the correct answer, SId fa was also accepted
forgr ferfer e fafarfemt gt

RRWTE R0%3 was the correct answer

R0R3/ 3R A was not accepted

Pupils were confused with the numerals 3 and 6 in Hindi. Lifting was
accepted with element of answers/ figures in Roman were also accepted
as the pupils wrote the numeral after understanding in Hind.i.

Many pupils had recourse to full lifting which was accepted. TS/
iR was also accepted.

Some pupils gave answers which were far from the context e.g o o forg,

ISERGEED %ﬂ'{, EHEED %IQ which were not accepted

The answer was direct and easy

#iadl was not accepted

HTT- T, | - 99, were accepted ,ARER was not accepted

Answer was very easy and direct. Copying mistakes were common with

omission of one or two numbers. Figures in Roman were accepted.

Question 4A

The main focus of question 4 A was to assess candidates’ ability to read with

understanding. However, some pupils had difficulty in selecting the correct answer

among the distractors. While some pupils left items unanswered, others selected two

options which resulted in loss of marks.



Question 4B

The main objective of this question was to check pupils” deeper understanding of the

given passage. Overall, the passage was perceived to be easy. The questions set had a

balance of factual, relational and inferential items. The pupils’ response was

satisfactory.

Item 1 -

Item 2 -

Item 3 -

Item 4 -

Item 5 -

Item 6 -

o forerh e siadlt off?

correct answer HFTY ar&d/ o

Lifting of sentence I heTH Th 91y 33d 9 was not accepted.
ST o 99 T8 O LTI i 1 2

correct answer J% SR § /375w 31k Tl

Incorrect answer, e = g’—l‘l’sQ TEi f&Im Names of any illness was not

accepted since the answer was not in the text.

This question required direct answers STeft / 3211/ A
BIUCE RS LC AR E AR RIRER IV

correct answersmwac\%ﬁm /HW%LET/ Rt Hhert /o =T
et

Some pupils lifted the complete sentence == TR &l Tk =R =T

which was not accepted. Indiscriminate lifting is usually penalised since
it puts the Examiners in doubt on whether candidates have really
understood the text and are really answering the question.

This was an inferential question. Performance was satisfactory.

Correct answers - Fi{eh 38k T & AR S Tai I /E'THZL\% o /ITH/ASSIT/ST

The question was a higher order one. Pupils had to identify the proper
sequencing of events.



Question 5A

This question evaluated the candidates” knowledge of sentence structures and their
ability to write correct sentences in Hindi while paying attention to the proper syntax.
Most of the candidates were able to score good marks in this question. Two jumbled
sentences were given and the following was observed:

Item 1 - G T JHT IISITAT SITUY
AT GIHT SRl UTSIITAT ST

[tem 2- ElEISIERCERIRI IR

Tsh T =X ST ITETSH F was not accepted

Question 5B

This question assessed the pupils’ ability to write contextually and grammatically
sound sentences in Hindi using accurate vocabulary. The pupils had to complete three
sentences. Grammatical and spelling mistakes were penalised in this section. Most of
such mistakes were noted in the use of verbs and agreement.

The following was observed -

» Jtem1 - Many pupils were able to write grammatically good sentences such
as:

AT EH I A S o fT et ifeh garl oed fom o 8 /a8 %I OX ofTd e
@R /a8 Yo Tl & /98 HLH A STEIE |

Some pupils were able to understand the conjunctionﬂ'«’ﬁ%m" and complete the sentence

but due to spelling, grammatical mistakes and wrong conjugation of words lost marks
such as - 98 TR & / TR AT 0 A1 & / T 3= S=al

. Item 2 - This sentence was mostly well done. Examples include:

fARaet 1 s1o St Al AT wAfoh o & SATT /3eh S STRRT o R A&
AT /ahTS T AT



However, some candidates were unable to use the conjunction TR to complete the
sentence and there were some incorrect answers such as: I8 QAT & /cifoh €k & Tl
ST

. Item 3 - In this sentence the candidates had to make use of 'ﬂﬁ{and ar

conjunction.
Many pupils wrote good sentences such as:

ATe TS STRRT T gRft At § STet Wt a1 ST / H Thet ST /
YTSINTAT sig T&l BT / § 319 I oh |1 Wi ST /
TS G &I 1 T 518 BT I SH B T T

Many students kept the same tense (future tense) to write a relevant
sentence but some low performers have used past or present tenses

such asaﬁmamqﬁﬁﬁ%wwazaﬁ%

Question 6

This cloze test question evaluated the pupils’ comprehension skills and ability to
analyse a context and fill in the blanks with the appropriate word. The overall
performance of pupils in this question was satisfactory. Many were able to complete
the cloze test and scored very good marks. Some pupils who could not read and
understand the context just chose answers at random due to which they could not
score good marks.



Question 7A

This question assessed the pupils’ grammar, vocabulary and spelling in context. They
were given five sentences with five mistakes which had already been underlined and
candidates had to write the correct form in the blank spaces. Many candidates scored
well in this question. However, some of them faced difficulties as far as correcting the

spelling mistakes was concerned. The following was noted:

= Jtem1-— Pupils wrote Bfeal, ®ET and lost marks
= Jtem2-— Pupils had to correct the spelling mistake in =t and write =2t but some

wrote €T or Hfd instead.

= ltem4— Answers such as T, FIAATAT 8, S SITUT were accepted.

Question 7B

This question evaluated the ability of pupils to form correct words with the words
given. It was a higher order question and most of the high performers were able to
score good marks. Spelling mistakes were penalised. Hence, only those who produced
answers using the correct vocabulary and spelling scored full marks. The following
was observed:

* Jtem2- Many pupils answered & which was correct, [&T¥ was not
accepted.
* Jtem4 - Candidates were able to identify the correct abstract noun fHaTae

but made some spelling mistakes like fi@me@, Hi@@d@ due to

which they lost marks.

= Jtemb5 - Many pupils found the word =8 difficult. Only some were able

to write the answer ¥I=&dT correctly.



Question 8

The aim of this question is to assess pupils” ability of using simple cohesive devices
such as adverbs of time, manner or place or coordinating conjunctions to write a short
but coherent text. Pictures and a set of words alongside were given. Pupils were
required to use the given words in order to write one sentence on each picture while
making sure that their five sentences made up a coherent story.

Item1- e fod - w¥zde

Some pupils wrote correct sentences both in present and past tense such asTeh & Tt
O IIER % |1Y 5 d¢ 7T AT /T fo 89 HUNER 695 d¢ Sd & Some pupils tried to

write sentences but due to spelling and grammatical mistakes, lost marks. Examples

of such sentences include T fa TH 37 IThT THER g d TS/ T o a5 ac g
Item 2: TEAd & — A

Some pupils wrote good sentences such as ERR gdd B ISH L 2/ g de qg:t{cl HE]

ISH d & but at times sentences which were meaningless Si& tl'gz?lﬁ & WIS 8 some
used the word IS in the form of verb such as 3 WIS/ &

Ttem 3: ST — JATIET

It was noticed that some candidates were able to write long sentences without any

mistake such as 3= Irc T ok 376 STeal & ST &I a1l & |While some pupils used

enriched vocabulary such as =T HHATITT ST fT 81 @i, some wrongly used the verb
ST M1 and instead wrote 31T STHET 3T ST / SF=ITeh SITRET R T

Some candidates wrote simple sentences such as %9 HTc1 sl U W e TR & |
However, some candidates wrote meaningless sentences such as T 39 48 7 RERIN]
ST STEd 6 § |

Item 4: el - |

Some candidates wrote long sentences such as T BH STeal STedl 379 A & H W@

TN/FERA A It was observed that some pupils used the English word “to pack” in their

sentences. Some wrote sentences that were not coherent to the picture such as o Sieg!

STeel HIg H A W@ ol / Sedl § 3 9 el | WEd @




[tem 5: AT

This item was generally well-done as the words given were easier. Examples

included:- ATHIEXIAA R / SIAH I T A B |

There were also some excellent attempts like 37 H g@ BT TS TR 3T I R dAted
2|

Nevertheless, some sentences were meaningless such as AT /FATT AR |

Question 9

Question 9 assesses pupils’ ability to write a coherent piece of continuous prose. It
assesses higher order writing skills, especially pupils” ability to develop a given
storyline creatively and coherently, use accurate grammar to express themselves, their
ability to use varied sentence structures and the richness and appropriateness of the
vocabulary used.

The following prompts had been given:
- 9RET % ETer TSR ST

- GlesRIT et

- 3T Ueh 3T geg HiTHET

- 3T 3 HATTHT TNER T L 87

- 37T T T AT 87

It has been observed that the prompts given were within the reach of pupils. Many
pupils attempted the question. At the first instance, the first three prompts given (SIS

STHT, Gfosit @ieAT, 3T Ueh 3TTeH! ﬂ?‘q’ﬁ"ﬂT) were easily understood and helped the

pupils to engage with the question. As a result, most of the slow learners wrote a few

10



simple sentences with basic additional words on the first three bullets points only and

scored some marks.

Concerning, the last part of the essay “What you and your family do?” and “what

happens at last? “ (3T 31T AT T TRAR F7 FLd &2 X AT H FTRATT 2 )

It has been noted that some slow learners and average pupils are still having
difficulties to develop the last two prompts.

Majority of the average ability candidates were able to complete the story. They wrote
that the man was poor and he has no one / he lost his purse, somebody stole his purse
/mobile phone. Furthermore, Candidates elaborated on how they and their family
gave money, bought food and drink and phoned the policeman to search for the
mobile phone.

Some pupils wrote short and correct sentences. In most compositions, grammatical
and spelling mistakes and incorrect use of tense were glared.

As for the brilliant candidates, they displayed good piece of writing. Furthermore,
they described that the man was in a lamentable situation / he had not eaten for two
or three days and he could not walk.

Some brilliant candidates associated themselves with the story. Their ideas were
noteworthy. They asked their parents to act promptly to help the man. They brought
the needy person at home to help him and gave him a shelter. In addition, they wrote
syntactically correct sentences using linking words. They demonstrated good
vocabulary words and idiomatic expressions.

The following sample of essays is an illustration of the strengths and weaknesses
encountered.

Essay 1
ERECIE R PRSI IGIEY
EESICS RIRCHECI R

AT T STGHT HEg AT < |
 IRET i S |

T AR SR B ST € |
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As mentioned above that the prompts given were at reach of candidates. This piece of
writing reflects the work of a slow learner or a below average ability pupil. It is to be
noted that the pupil uses the prompts to make simple sentences and he scored some
marks. Indeed, some grammatical and spelling mistakes could be seen.

Essay 2

3T AR 1 37 8 | iem gern € | o0 =we W 8 | 36 o § | 37 aiEm % |y o
STt § | &9 o1 ShT TSR ST & | ST &1 ST o797 @ | 34 At "fosat @iied! @ | H st o
TS & | 3T Uk STTEH! Hag "M 37T € | (51 words)

The essay is incomplete. It seems that the last two prompts (319 TR 3119 T ITE =T
FA 2 FTHRTEMTR ?) are still a hurdle for average ability candidate. It is noteworthy

that the beginning of the essay is good. There is enough vocabulary and the sentences
are coherent. Syntax also is correct. Some grammatical and spelling mistakes are
obvious.

Essay 3

TS HHER 1 37 2 | Hew gemT 8 | § uftar 3 9oy SIS S § | §6 3 6 98 AT - A
HosrIt srrd 8 | TH Hfostal TRIad & | ST=Teh Ueh HATGH! 7Gg HITdT & | 89 4 39e! 0 3 & | 37
T EH BRI & | 48 words)

Essay 4

TS B INER TSR ST 8 | 98 98 Hiosrl RIS | ST -STTd 9k Toh STTEHT 85 Hag | T o |
SHERT ST @I T AT | WY ISR A IWhT #eg {6 | 9 TSl b of ST ST 34! X qoF DS
o | 3o & oraTe fora of 3 e 49 T3 | et weft @eft & s & | (57 words)

Essays 3 and 4 are relevant. The stories are basic. The candidates could have
developed the story line with more details. It seemed that they had trouble in finding
appropriate vocabulary to use in the storyline. The ideas are organized and expressed
in mostly simple sentences. Grammatical and spelling mistakes are noticeable.
Candidates are unable to use the correct tense of verbs (mixing present and past tense
inappropriately). These two essays get a mid-range score.

Essay 5

TS AR 1 T3 2 | 3771 D o1 o 3 | SEfifore 8 g St S3art 370 aftam o &mer ST Sran
g | Ugad &1 B0 @festal THied & | Wosal S@eht BN e H U1 WL AT & | 3T Toh e
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3ATEHt HeE WITAT & | 39 qATgAt @iied o g T =fee | 7 HTar - o qid o0 39 3d € | et
1 R T TSI 71 &l & | 98 & 9=3dTe 9dT & 3R SARfaie a1 & | 37 § g0 7T 8 TR -
@ﬁﬂ?ﬂﬁ%l (86 words)

The Pupil missed the opportunity to score full marks. He wrote that he and his family,
on arriving at the market bought vegetables and moved on. Suddenly someone is

asking for help. (T5ad & g1 Gfos/ @iad & | 3Tae Tk SATGH! Hag HITTdT & )

He forgot to describe the market, the action of vegetable sellers and to enumerate the
name of some vegetables and as well as the process of buying and selling. If some of
these pertinent points would have been included in this essay, he would have scored
the highest marks.

On the other hand, the essay is very attractive. It could be seen that the storyline has
been elaborately developed. The vocabulary used is correct. The use of a variety of
idiomatic expressions is visible. The syntax is coherent and the level of language is
high and leaving one grammatical mistake only in the story.

It has been noted that majority of brilliant pupils forgot to write on the above-
mentioned pertinent points. Instead, they write at large how they and their family got
involved to help the needy person.

Essay 6

TS HIHAR & S et STTEHH & g =7 T & | § Thet o Sl § § | 5 THaR STidTiee ss)
ST 8 | 37T § T AR o 1o TSR ST (39 a7f 3 0 TRi Gt 8 ST © | 9g=d & 9 arst
— TSt fost @liad © | St § T - forlil ot bt Sl § el g H U AT 8 | §AR il H
g Alostat I et € | oL g/ T I =retd —=ietd & Hargal @iied & |

I Teh HATEH! #eg /T & | forem stmedt 21 fofi & et @ | e § w0 aien 36 %5
QT o 7T A o & | §6 99 T3l 379 IREN X 779 37T @ | o 98 A4 & |(118 words)

This essay is a good piece of work. The story is complete with enough relevant details.
In addition, it fulfills the objectives of this question which is to produce a piece of work
using creativity and imagination. The ideas are organised and expressed in mostly
complex sentences. The vocabulary is satisfactory. However, this essay could not score
full marks because numerous grammatical and spelling mistakes are noticeable.
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Essay 7

TS AT B | HYeH GEMT & | T et STERTST & <Heh &1 8 | 37 Wit ol T @ gefifore &
T TIE o BT TSR ST § | @7 R ST @M1 8Id © | 81 T agad g Af sl @dedt @
ST ST TSI TS 3T | STef A @fostar Tlied! & ,ae § 368 — e qud! g | ISR H o5 @n
2 | ST 3 T STTCHT Heh o 7eg HiTTd fomams oeft B | 731 38 X 3o 3Tt 3 | & foramsh &t
36 S H ST § | o 36 SATEHT o foTg @ 7R i 7 siiael @iad @ , Fifeh a8 STTeHT srar
& o1 Ik YT H TR a1 T8 € | S5 ToreR i o SI1e, & 36 370 1o JL AN ¢ |

TH 3 UTE o TR H T8 1 hed ¢ | S R H s ff T a1 8 | I8 g8 9=raTe qar 2 | (147 words)

This essay is a bit long but it can be classified as excellent owing to the fact that the
story has been well developed with elaborated relevant details. The language is
perfect despite of a few mistakes. In addition, the ideas are well organised and
coherent using creativity and imagination. It could be seen that there is consistent use
of complex sentence patterns in a very natural way.

Observations

1. Writing the essay

Most candidates attempted this question.

A few candidates copied the canvas only.

Some candidates still dwell on lengthy introductions.

Many compositions did no stick to the recommended word limit.
A variety of vocabulary was noted.

Grammatical and spelling mistakes were noticeable in the average ability students'
compositions.

High flyers delivered good story using idiomatic expressions. Good command of
language could also be seen.

2. Use of tense
Most essays were written in the present tense. Some candidates started the essay in
present and ended in past tense. Incoherence of tenses was noted in some cases.

(mixing present tense and past tense using transitive verbs)

Example:
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TSt wowat @iied € |
foarsit I Heg A & |

T IR Y IR |

T R - R e © |
Subject - verb agreement:
T afesrt @iied 1 |

T 3 STEHT I T@TE |
forarsit wfssat Efiear 2 |
RS E |

3. Spelling mistakes

Gt / STEeRT / SERT

¢ /et /g
Tow / 3ret

EEI
e / forsar / feergat
9T / THTR

AT THSAT T
MEICEWAICECE |

T/ T

EERWATES

Ald /T (F93T )
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4. Common grammatical mistakes

H T gfar o arer § B 9iE o 91 ST @
TSt "iestat / sgd Hesil / Sigd Hisstal
JHHT HEE I ATHT i

S RAETUREICE RS IR
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